aERE=IC 6
YA LA A £05'96¢" | 000'€9'S B AV S
(1¥9'0F0'EVX)  (6SE°056X) {000° 1£0‘PX)
S8L'PEL'Y £80'G/6'8€ 868'0V8'vE Y2 BSICH & 2K SENTE (BB
(6G£'6¥S'EX) (65t°922°61X) (001°249°G1X) (KEiaR)
009851 = 12000'009'85 |
Al & 2SRTNENL ERTEERS ‘STERSS WERS ©
009'851 2ot R &Y (10-108-001) |
009°I v 009° w@__ 4002091 2l HEINE KITR
i |
H,.ﬁ 3 i
08e'2Z1 (582°06X) = [Z000'0£L'2/1 RBlic®E kKR Y SI0RE B
088221 S2YERRIKBIXY (10-80-001)
08Z°¥S WA ool'ezgl Ko Sy SI0RE Biw
(566 VX) (5£2°05X) (0g2°15X)
000's = B0G2*=000'02 S 5 RERBBIF ©
0082y = £0592+R&002'691 YIRF BREby S RIVEI0SND LT
00216 = £809+RE000°051 BEICE Pt ESRBw ETIY ©
005°8€ 1 IARESTY (10-102-001)
008601V 005'8¢g1 008'/¥2 BiY RERF
02s've = &000°02.'pE SENE YOHE BYIVRERRING o
0¢/'ve IRBSEE (20-102-001)
000°5£9 = [Z000°'000'5€9
B BFR B INSI6 BIYsrsS PR BICERNF < _
000629 IRIRZSIY (10-102-001) Il i
. "
102'119v omn%w 166 9ve) BR BIC2NE BIvEI020
(B : BR) s BTN 2 £ 020¢ 610¢ =Y BB -me - Wa




aREREIC

0!

£ Bkl <

(BR: BB)

00921 B000°009'2 L
009°Z| ARSI (10~-102-001)
0 009°29 009°'29 B2 A3S3iIY ICERERS3E
000011 72000°000°01 | +TEE BYIVREERERICH o
000°0L} ARSEE (20-102-001)
S02°140% 000°0t 1 502188 BS BYIVRE ARERE ICN
000°0v 2000°000°0F ERAlNE o
000°0F 28a&le (20-018-001)
000°¢| 2000°000°¢ | REERB BT RICER YRBIWIODE
000°¢!l Rix=ssRiREwrly (€0-£02-001)
000°09 000°000°09 AEE <
000082 2000'000°082 S B8 BRES 2 Pic Blch <
000°5Z 2000°000°62 2l EER FBE RE PIc Blcl o
000°S =000°000°S IR2RIFIS S 3B WTHICE BIch <
000°0.€ IRl2ESIY (10-102-001)
00/'60v'eV 000°€2¥ 00/'288°€ BEEREE =2 YRBINIDE
000°000°02  (000'000'21X) 2000°000°000'02 BYYF RREYSN 8BIc o
000°000°02 (BIYRIO)TSRBIYEX 23 (20-207-001)
000°05 2000'000°05 52 B/ RBEYSK 8RIc o
00005 A2y (10-102-001)
000°050°01 000" omo 0z |0001000°01 EE RBEVSN BRI
(000°000°9X) (000'000°21X) ? (000°000°9X)
i,
£05°98¢°1 (65£°066X) B000°c05°988e’ | BXYXE PRTSK o _
£05°98¢8°| (BIYRIOTERBIVEY 2B (20-207-001)
000°01 £000'000°0| 2l E52 28 AAYSK ©
00001 IRR&ZE&EY (10-102-001)
BN BEICN I T 020¢ 6102 alY - BB kR K&




